
Barry, 
  
I have a very straightforward Class II Permissive that I would appreciate your help on. 
  
The only change is to the hopping algorithm.  The number of channels remains the same 
and the channels are still used equally on the average.  The new algorithm is a bit more 
elegant than the previous one and gains some functionality for the system. 
  
I have included the algorithm description as well as a report with the dwell time, channel 
separation, etc. re-measured.  I have also included a copy of the previous grant. 
  
  
Thank you for your help, 
  
Tom 
  


